[bookmark: _GoBack]Government Review- Use the word box below.  You may use the words more than once.  
A __________ system is where power is divided equally between the central and state governments.
A ______________ is a small group of countries that government and membership is voluntary. 
A _______________ government is where the central government has all the power. 
An __________________government would most likely abolish all opposing political parties, the direct election of leaders, and free speech. There is only one leader in an autocratic government. 
An ____________________ is a government that is ruled by a small group of people. 
In a ____________________, citizens can best influence the government by voting because they have all the power. 
Brazil and Mexico have a _________________ system with a ___________________ democracy. 
Cuba has a ____________________ system with an autocracy/ oligarchy.  oligarchy       autocratic          federal           unitary      
democracy    confederation     presidential







Economy Review - Use the word box below.  You may use the words more than once.  
A ______________economy is an economic system in which people own land, factories, and businesses.  Companies produce the goods of their  _____________ and the consumers decide whether to buy the goods.
_________________________ is found in a market economy because a person can start any legal business and charge any price.
In a ______________________economic system, people usually exchange goods or services rather than use money. _________________ with a seller is an example of this exchange process.
The _________________________________________________________ was designed to promote free trade between the United States, Canada, and Mexico.  This means there are no ____________________ and _______________________. 
The purpose of _________________________is to increase trade by doing away with ________________________ and __________________________. 
____________________________ are taxes on imports.
The purpose of a protective tariff is to increase the prices of __________________ goods and protect a country’s own industries from foreign competition. 
An advantage of ____________________________________ is a factory can efficiently produce high quality goods.  Countries may also _______________ their specialized goods/services for goods/services they need.
____________________________ is an example of human capital. 
An entrepreneur can help increase a country’s GDP by creating __________________ that give people jobs. 
A country with a ____________ literacy rate will most likely have a high standard of living. 
Oil and tourism are major sources of income in the countries of ________________________ and _______________________________. 
One problem with depending on oil exports for most of a country’s income is when the price of oil goes ____________________, the country begins to run low on money. 
Cuba and Brazil compete with each other for trade with other countries in ______________________, _________________________ and _________________,
Canada and Mexico are similar in that lowering trade barriers between these two nations has resulted in both nations experiencing _______________________ in their economies.quotas               export            choice                 market              specialization                          traditional         high                down                   tourism             competition             oil                      bartering        NAFTA               sugar                businesses                            growth              tariffs             imported            education          coffee                                   North American Free Trade Agreement               

